IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re:	Chapter 11
ADVANTAGE HOLDCO, INC., et al.,	Case No. 20-11259 (CTG)
Debtors. ¹	(Jointly Administered)
	Objection Deadline: August 26, 2021 at 4:00 p.m.
	1

FOURTEENTH COMPENSATION REPORT BY MACKINAC PARTNERS, LLC FOR SERVICES RENDERED AND EXPENSES INCURRED FOR THE PERIOD FROM JULY 1, 2021 THROUGH AND INCLUDING JULY 31, 2021

Applicant: Mackinac Partners, LLC

Authorized to Provide Services To: Debtor and Debtor-In-Possession

Date of Retention: June 29, 2020

Period of Compensation and Reimbursement: July 1, 2021 through July 31, 2021

Amount of Fees Earned: \$4,610.00

Amount of Expenses Incurred: \$-0-

Additional detail is attached hereto as:

Exhibit A – Summary of Compensation and Expenses

Exhibit B – Summary of Hours and Fees Incurred by Category

Exhibit C – Detailed Time Descriptions by Category by Professional

Exhibit D – Summary of Expenses by Category

¹ The Debtors in these cases, along with the last four digits of each Debtor's federal tax identification number, are: Advantage Holdco, Inc. (4832); Advantage Opco, LLC (9101); Advantage Vehicles LLC (6217); E-Z Rent A Car, LLC (2538); Central Florida Paint & Body, LLC (1183); Advantage Vehicle Financing LLC (7263); and RAC Vehicle Financing, LLC (8375). The Debtors' address is PO Box 2818, Windermere, FL, 34786.

IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

	Objection Deadline: August 26, 2021 at 4:00 p.m.
Debtors. ²	(Jointly Administered)
ADVANTAGE HOLDCO, INC., et al.,	Case No. 20-11259 (CTG)
In re:	Chapter 11

NOTICE OF FOURTEENTH COMPENSATION REPORT BY MACKINAC PARTNERS, LLC FOR SERVICES RENDERED AND EXPENSES INCURRED FOR THE PERIOD FROM JULY 1, 2021 THROUGH AND INCLUDING JULY 31, 2021

TO: (i) the Office of the United States Trustee for the District of Delaware and (ii) the Official Committee of Unsecured Creditors.

PLEASE TAKE NOTICE that, on June 5, 2020, the above-captioned debtors and debtors-in-possession (collectively, the "<u>Debtors</u>") filed the *Debtors' Application for Order Pursuant to Sections* 105(a) and 363(b) of the Bankruptcy Code (I) Authorizing the Debtors to Retain Mackinac Partners, LLC to Provide the Debtors with A Chief Restructuring Officer and Related Services, <u>Nunc Pro Tunc</u> to the Petition Date and (II) Approving the Agreement Related Thereto [D.I. 123].

PLEASE TAKE FURTHER NOTICE that, on June 29, 2020, the Court entered the *Order Granting Debtors' Application for Order (I) Authorizing the Debtors to Retain Mackinac Partners, LLC to Provide the Debtors with A Chief Restructuring Officer and Related Services, <u>Nunc Pro Tunc</u> to the Petition Date and (II) Approving the Agreement Related Thereto [D.I. 304] (the "<u>Mackinac Retention Order</u>").*

PLEASE TAKE FURTHER NOTICE that, pursuant to the Mackinac Retention Order, Mackinac Partners, LLC hereby files its *Fourteenth Compensation Report by Mackinac Partners, LLC for Services Rendered and Expenses Incurred for the Period from July 1, 2021 through and including July 31, 2021 (the "Compensation Report").*

PLEASE TAKE FURTHER NOTICE that objections, if any, to the relief requested in the Compensation Report must be filed with the United States Bankruptcy Court, 824 N. Market Street, 2nd Floor, Wilmington, Delaware 19801, on or before **August 26, 2021 at 4:00 p.m. (ET)**. At the same time, you must also serve a copy of the response so as to be received by the following on or before the Objection Deadline: the Debtors, c/o Advantage OpCo, LLC, P.O. Box 2818, Windermere, FL, 34786 (Attn: Alfred Farrell, CFO); counsel to the Debtors, Cole Schotz P.C., 500 Delaware Avenue, Ste. 1410, Wilmington, DE 19801 (Attn: Justin R. Alberto, Esq.); counsel to the Debtors' DIP Lender, Brown Rudnick LLP, 7 Times Square, New York, NY 10036 (Attn: Bennett S. Silverberg, Esq.); counsel to the Committee, Baker Hostetler, 200 South Orange Avenue, Suite 2300, Orlando, FL 32801-3432 (Attn: Andrew Layden, Esq.);

² The Debtors in these cases, along with the last four digits of each Debtor's federal tax identification number, are: Advantage Holdco, Inc. (4832); Advantage Opco, LLC (9101); Advantage Vehicles LLC (6217); E-Z Rent A Car, LLC (2538); Central Florida Paint & Body, LLC (1183); Advantage Vehicle Financing LLC (7263); and RAC Vehicle Financing, LLC (8375). The Debtors' address is PO Box 2818, Windermere, FL, 34786.

and the U.S. Trustee, 844 King Street, Suite 2207, Lockbox 35, Wilmington, DE 19801 (Attn: Benjamin Hackman, Esq.).

PLEASE TAKE FURTHER NOTICE THAT ONLY IF AN OBJECTION IS PROPERLY AND TIMELY FILED IN ACCORDANCE WITH THE ABOVE PROCEDURE WILL A HEARING BE HELD ON THE COMPENSATION REPORT. ONLY THOSE PARTIES TIMELY FILING AND SERVING OBJECTIONS WILL RECEIVE NOTICE AND BE HEARD AT SUCH HEARING. IF NO OBJECTIONS ARE FILED AND SERVED IN ACCORDANCE WITH THE ABOVE PROCEDURES, THE DEBTORS WILL BE AUTHORIZED TO PAY 100% OF REQUESTED FEES AND EXPENSES WITHOUT FURTHER ORDER OF THE COURT.

Dated: August 12, 2021 Wilmington, Delaware

COLE SCHOTZ P.C.

/s/ Justin R. Alberto
Justin R. Alberto (No. 5126)

Norman L. Pernick (No. 2290)

Patrick J. Reilley (No. 4451)

Andrew J. Roth-Moore (No. 5988) 500 Delaware Avenue, Suite 1410

Wilmington, Delaware 19801

Telephone: (302) 652-3131

Facsimile: (302) 652-3117

jalberto@coleschotz.com

npernick@coleschotz.com

preilley@coleschotz.com

aroth-moore@coleschotz.com

Counsel for Debtors and Debtors In Possession

EXHIBIT A

ADVANTAGE HOLDCO, INC., et al. Summary Sheet

n re:) IN PROCEEDING UNDER	Fees Previously Requested	\$	304,175.00	Name of App	licant:
ADVANTAGE) CHAPTER 11	Fees Previously Paid	\$	304,175.00	Mackinac Partners, LLC	
HOLDCO, INC., et al.) (Jointly Administered)					
)	Expenses Previously Requested	\$	-	Role in the C	ase:
) Case No. 20-11259 (CTG)	Expenses Previously Paid	\$	-		tructuring Officer ed Services
Debtors)					
		Current Application:				
MONTHLY STAFFING	S REPORT	(July 1, 2021 through July 31, 20)21)			
SUMMARY SHEET		Total Fees Requested	\$	4,610.00		
		Total Expenses Requested	\$	-		
PROF	ESSIONALS	HOURS BILLED		HOURLY	FEI	ES BILLED
		IN STATEMENT		RATE	IN S	TATEMENT
Name	Position					
Pascucci, Matthew	Sr. Managing Director	6.2	\$	700	\$	4,340.00
Velasco, Jin	Paraprofessional	1.2	\$	225	\$	270.00
TOTAL HOURS AND F	FEES	7.4	=		\$	4,610.00
TOTAL EXPENSES					\$	<u>-</u>
TOTAL FEES AND EX	PENSES				\$	4,610.00
TOTAL BLENDED HO	URLY RATE		\$	622.97		

EXHIBIT B

ADVANTAGE HOLDCO, INC., et al. Summary of Hours and Fees Incurred by Category July 1, 2021 through July 31, 2021

Category	Hours	Fees
Business Analysis	6.2	\$ 4,340.00
Staffing Reports/Employment Applications	1.2	\$ 270.00
Hours and Fees Total	7.4	\$ 4,610.00

EXHIBIT C

ADVANTAGE HOLDCO, INC., et al.

Detailed Time Descriptions by Category by Professional July 1, 2021 through July 31, 2021

Name	Date	Description	Time	Rate	A	Amount
Business Analysis						
Pascucci, Matthew	07/06/21	Review of plan mark up from committee.	0.5	\$700	\$	350.00
Pascucci, Matthew	07/06/21	Call to discuss plan edits with Cole Schotz.	0.5	\$700	\$	350.00
Pascucci, Matthew	07/07/21	Updated best interest analysis and discussion with Cole Schotz regarding the same.	1.7	\$700	\$	1,190.00
Pascucci, Matthew	07/07/21	Provided updated disclosure to Cole Schotz.	0.9	\$700	\$	630.00
Pascucci, Matthew	07/08/21	Correspondence with A. Farrell regarding Wilmington Trust invoice.	0.3	\$700	\$	210.00
Pascucci, Matthew	07/12/21	Reviewed liquidation model and made requested changes.	1.5	\$700	\$	1,050.00
Pascucci, Matthew	07/20/21	Call with A. Farrell to discuss status of plan filing.	0.2	\$700	\$	140.00
Pascucci, Matthew	07/21/21	Call with Cole Schotz to discuss claims.	0.3	\$700	\$	210.00
Pascucci, Matthew	07/26/21	Correspondence with Cole Schotz regarding updated disclosure.	0.3	\$700	\$	210.00
		Business Analysis Subtotal	6.2	-	\$	4,340.00
Staffing Reports/Emp	oloyment Ap	plications_				
Velasco, Jin	07/19/21	Prepare June staffing report.	1.0	\$225	\$	225.00
Velasco, Jin	07/21/21	Update June staffing report.	0.2	\$225	\$	45.00
		Staffing Reports/Employment Applications Subtotal	1.2	-	\$	270.00
		Hours and Fees Total	7.4		\$	4,610.00

EXHIBIT D

ADVANTAGE HOLDCO, INC., et al. Summary of Expenses by Category July 1, 2021 through July 31, 2021

Category	Amount			
Air	\$	-		
Ground Transportation	\$	-		
Lodging	\$	-		
Meals	\$	-		
Other	\$	-		
Expenses Total	\$	-		